R2: Calculation of the SOS of a regulatory link

Fraction of the genes of each organism with orthologs in E. coli. The table shows only
organisms where we detected orthologs of FruR and the genes of the fruB-fruK-fruA TU.

Erwinia carotovora atroseptica SCR11043 0.93
Shigella flexneri 2a 2457T 0.78
Shigella flexneri 2a 0.77
Haemophilus influenzae 0.71
Escherichia coli O157H7 EDL933 0.70
Escherichia coli CFT073 0.67
Salmonella typhimurium LT2 0.70
Photobacterium profundum SS9 0.68
Salmonella typhi 0.68
Vibrio cholerae 0.62
Pseudomonas syringae 0.61
Vibrio parahaemolyticus 0.60
Vibrio vulnificus CMCP6 0.60
Yersinia pestis KIM 0.56
Yersinia pseudotuberculosis 1P32953 0.56
Photorhabdus luminescens 0.42
Yersinia pestis biovar Mediaevails 0.32
Pseudomonas putida 0.31
Pseudomonas aeruginosa 0.31

FruR [Sites predicted using statistical_models)
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Escherichia coli G157HT EOL333 (R) L 2 L 2 frub — fuk — fua
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Vibria parahasmalyticus (R 4 vpa0sll  =pa0E]l=——padgll=
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Yersinia pestis KM (R] L ] - frub = fruk = frum =
Fhotarhabdus kuminascans (F] 4 frub

SOS numerator = (1 -0.68) + (1 -0.7) + (1 -0.77) + (1 -0.93) + (1 - 0.7) + (1 - 0.68) +
1-042)+(1-0.78)+(1-0.6)+(1-0.6) +(1 -0.32) + (1 -0.56) + (1 - 0.62) + (1 —
0.56) =5.08



SOS denominator = (1 — 0.31) + (1 - 0.77) + (1 - 0.61) + (1 - 0.67) + (1 - 0.7) + (1 -
0.62)+(1-0.56)+(1-0.71)+(1-0.6) + (1 -0.42) + (1 - 0.68) + (1 - 0.6) + (1 — 0.93)
+(1-068)+(1-0.56)+(1-0.7)+(1-0.78)+(1-0.32)+ (1 -0.31) =7.47

SOS =0.68



